
Séquence de Nombres Linéaires (G)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 268 343 718 793Différence commune:2. 617 627 642 647Différence commune:3. 445 455 470 475 490Différence commune:4. 685 785Différence commune:5. 100 200 1000Différence commune:6. 191 341 416 491 641Différence commune:7. 760 810 860 910 935 960Différence commune:8. 100 200 300 400 600 800 1000Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (G) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 193 268 343 418 493 568 643 718 793 868Différence commune: 752. 607 612 617 622 627 632 637 642 647 652Différence commune: 53. 445 450 455 460 465 470 475 480 485 490Différence commune: 54. 385 435 485 535 585 635 685 735 785 835Différence commune: 505. 100 200 300 400 500 600 700 800 900 1000Différence commune: 1006. 191 266 341 416 491 566 641 716 791 866Différence commune: 757. 735 760 785 810 835 860 885 910 935 960Différence commune: 258. 100 200 300 400 500 600 700 800 900 1000Différence commune: 100Mathslibres.com


